Grade 3 /NE3FEHK

1. 3x(325-79) =?

a.738 b. 896 c. 748 d. 886

2. £626+-6FF, ERELZE T E ? What remainder will be left when 626+6?

a.0 b.2 c.4 d.6
3. 8km3m= m?
a. 803 b. 8300 c. 8003 d. 8030

4. —ERIEERLETF, BH32EF MEREXFTUAKRGFEREEPHUEREORE?

A tournament has 39 players with 3 players on each team. Which expression shows how to find the number of teams
in the tournament?

a.393+3 b.393-3 c.393x3 d.393+3

5. —EFHTTEEHARBENRERLEHE?

A quadrilateral with 2 pairs of parallel sides and the opposite angles are equal. What is it?

a. EAR b. ZAH c. FATMZER d. # %
a. square b. triangle c. parallelogram d. trapezium

Answers: 1.a 2.b 3.c 4.d 5.c



Grade 4 /NE4ERR

1. 648+18x4 = o

a.9 b.11 c. 144 d. 156

2. 7£38.04 EEH Y, M—EBLKRTHBER/N?
In the number 38.04, which digit represents the smallest value?

a.0 b. 3 c.4 d. 8

3. LITHMEZLZ 26 BIfE 2L ? Which of the following numbers is a multiple of 26?

a. 1 b. 2 c. 13 d.52

4, —AEAFHEEZI0m?, ERNEEEZPom?

What is the length of the side of a square with an area of 10 cm??

a.5 b. 10 c. 15 d. 25
©,©
ab
5. —E=ZARETREANIIZ130°, F—EAZE 4

In a triangle, the sum of two angles is 130°. The measure of the third angle is

a. 30° b. 40° c.50° d. 60°

Answers: 1.c 2.a 3.d 4.b 5.c



